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[ 6x1) [ ox1) GE1) GET) M1
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pm |4BUER 240,980] (248, 710)| 189,030 (196, 760)| +[ 2, 380] (2, 450)[ x &= [ 1,860 (1,930)] xm&x |+[ (7. 730)] (70x mEx)
104 3 & R 248,710| (310,650)| 196, 760| (258,700) [+ 2,450 (2,990)| x &= | 1,930 (2,470)| xm&ER |[+| 7,730 70 X & %
T | gg [1. 288 310, 650| (388,000)| 258, 700| (336,050)[+| 2,990/ (3, 770)| x &= | 2 470 (3,250)| x &=
E 7 388, 000 336, 050 +| 3770 xmEx [ 3 250 X R
A )m |4RUER 130, 790] (138,520)| 104,810] (112 540)|+[ 1,280 (1,350)] xm&= [ 1,020/ (1,000 xm&E= |+[ 7 7300 Gox mE=x)
N 3 & R 138,520| (200, 460) | 112,540| (174,480)|+| 1,350/ (1,890)| xm&= | 1,090| (1,630)| xm&E= |+| 7 730 70 X & &
208 am |12 2R 200, 460 (277,810)| 174,480 (251,830)|+| 1,890| (2,670) xin&s [ 1,630 (2 410)| xn&ExE
FT %7 |a 7 277, 810 251, 830 +| 2670 xmEx [ 2 410 X pRE &
21 A )m |4RUER 93,940 (101,670) 76,620 (84, 350)| + 910/  (980)] x mEX 7400 @10 xmEx |+[ 7. 7300 GoxmEx)
i 3 & R 101,670| (163,610)| 84,350 (146, 290) | + 980/ (1,520)| xmEx 810 (1,350)| xm&E= |+| 7 730 70 X p &
30N am |12 2R 163,610 (240,960)| 146,290 (223, 640)[+| 1,520 (2,300) xpn&= | 1,350 (2,130) Xxjn&Ex
=T |77 [n w| | 240, 960 223, 640 + 2300 XIEE | 2,130 X g
31A )m |4RUER 75,800] (83,530) 62 810/ (70,540) |+ 730]  (800)] x mE® 600 (670)] xmEX |+[ 7. 7300 (GoxmEx)
i 3 & R 83,530 (145,470)| 70,540 (132 480)|+ 800/ (1,340)| xmEx 670 (1,210)| xm&E= |+| 7 730 70X Mg
40N ie |1, 2&R 145, 470| (222,820) | 132,480 (209,830)|+| 1,340 (2, 120)| xmas | 1,210/ (1,990) | x &=
=T 77 [n w| | 222,820 209, 830 +[ 2120 <IN | 1,990 X g
4A om |4RUER 70,460 (78,190)| 60,070/ (67, 800) |+ 680 (750)] x mEx 5700 (640)[ xmEX |+[ 7. 7300 GoxmEx)
i 3 & R 78,190 (140,130)| 67,800 (129, 740) |+ 750  (1,290)| x mE® 640 (1,180)| xm&E= |+| 7 730 70X Mg
50A 3 |1, 28R 140, 130| (217,480) | 129,740 (207,090)|+| 1,290] (2, 070)| x s | 1,180| (1,960) x &=
G I 7 | | 217,480 207, 090 +| 2070 x e | 1,960 X MEE
51 A pm |4RUER 61,610 (69,340)[ 52,960 (60, 690) |+ 590 (660)] x mEX 5000 (570)[ xmEX |+[ 7 7300 (GoxmEx)
i 3 & R 69,340 (131,280)| 60,690 (122 620) |+ 660 (1,200)| xmE xR 570 (1,110)| xm&E= |+| 7 730 70 x fn & &
60.A 3 |1, 28R 131,280| (208, 630) | 122,620 (199,970)|+| 1,200] (1,980)| x s | 1,110 (1,890) | x &=
L I 7 15| | 208,630 199, 970 +| 1,980 x e | 1,890 X MEE
614 )m |4RUER 55,370 (63,100)| 47,950 (55, 680)|+ 520  (590)] x mEx 450 (520)[ xmaEX |+[ 7. 7300 GoxmEX)
i 3 & R 63,100 (125,040)| 55,680 (117,620) |+ 590  (1,130)| x mEx 520 (1,060)| xm&E= |+| 7 730 70 x fn & &
70N sz |12 2R 125,040 (202,390)| 117,620 (194,970)[+| 1,130 (1,910) xpn&=x= | 1,060 (1,840) Xxn&Ex
G I 7 5| | 202,390 194, 970 +| 1910 x e | 1,840 X MEE
1A pm |4RUER 50,750 (58, 480)| 44,260 (51, 990) |+ 480]  (550)] x &= 4100 (480) [ xmaEX |+[ 7. 7300 GoxmEx)
i 3 & R 58,480 (120, 420)| 51,990 (113 930) |+ 550  (1,090)| x mE® 480 (1,020)| xmE= |+| 7 730 70 x fn & &
80N sz |12 2R 120,420 (197,770)| 113,930 (191,280)[+| 1,090] (1,870) xpn&== | 1,020 (1,800) X jn&Ex
FT %7 |a w| | 197,770 191, 280 + 180 x g | 1,800 X
81A )m |4RUER 47,100] (54,830) 41,330 (49, 060) | + 440 (510)[ x mE= 380  (450)[ xmEX |+[ 7. 7300 (GoxmEx)
i 3 & R 54,830 (116,770)| 49,060 (111, 000) |+ 510 (1,050)| xmEx 450, (990)| xmE= |+[ 7 730 70X &
A sz |12 2R 116,770 (194,120)| 111,000 (188, 350) [+| 1,050| (1,830) x &= 990 (1,770) | xfn&=
20/100 FT [ 77 | s 194,120 188, 350 +[ 1,830 xmgx [ 1,770 X pRE &
w9y 4 e |4BUER 40,730 (48,460)| 35,530 (43, 260) | + 380 (450)] x g 3300 (400)| xmER |+[ 7,730)] (F0xmExR)
|73 & R 48,460| (110,400)| 43,260| (105, 200) |+ 450)  (990)| x nE & 400 (940)| xmE= |+| 7 730 70X g
100A f oo 1. 2&R 110, 400| (187,750) [ 105,200 (182 550) |+ 990/ (1,770)| x g% 940| (1,720)| x g%
FT %7 |a w| | 187,750 182, 650 + 1m0 x g | 1,720 X g
01X | o |4BREER 38,690 (46, 420)| 33,970 (41,700) |+ 360 (430)| xmE X 3100 (380)[ xmaEx |+[ 7 7300 GoxmEx)
i 3 & R 46,420| (108,360)| 41,700| (103 640) |+ 430 (970)| x Ex 380 (920)| xmE= |+| 7 730 70X pngs
noa oo 1. 2me 108, 360| (185, 710)| 103,640 (180, 990) |+ 970 (1,750)| x g% 920/ (1,700)| x mnEx
=T 77 [n w| | 185 710 180, 990 + 170 x g | 1,700 X B
A | o |4BREER 36,960 (44,690) 32,630 (40, 360) |+ 340 (410)] x pEE® 3000 (370)] xmEx |+[ 7. 7300 GoxmEx)
i 3 & R 44,690 (106, 630)| 40, 360| (102, 300) |+ 410]  (950)| x nEx 3700 (910)| xm&E= |+| 7 730 70X g
120A f oo 1. 2&R 106, 630| (183,980) [ 102,300 (179, 650) | + 950 (1,730)| x mEx 910| (1,690)| x g xE
=T 7 [n w| | 183 980 179, 650 + 170 x g | 1,690 X g
121K | o |[4BHER 35,500 (43,230)| 31,500 (39, 230) [+ 330 (400)| x mExE 2900  (360)[ xmEx |+[ 7. 7300 GoxmEx)
i 3 & R 43,230] (105,170)| 39,230| (101,170) |+ 400]  (940)| x pEx 360 (900)| xmE= |+| 7 730 70X g
130A f oo 1. 28R 105,170 (182,520) | 101,170 (178,520) |+ 940 (1,720)| x mExE 900/ (1,680)| xmExE
=T 77 [n w| | 182,520 178, 520 + 170 x gk | 1,680 X g
131X | o |[4BHER 34,280 (42,010)| 30,570 (38, 300) |+ 310]  (380)] xmEx 280  (350)[ xmEX |+[ 7. 7300 GoxmEx)
i 3 & R 42,010] (103,950)| 38,300| (100, 240) |+ 380 (920)| xmE® 350 (890)| xmE= |+| 7 730 70 X & %
1A Lol 1 2&R 103, 950| (181,300) [ 100, 240 (177,590) |+ 920 (1,700)| x mExE 890/ (1,670)| x nEx
Rl D w| | 181,300 177, 590 + 1700 XIEE | 1,670 X Mg
WA |9 4mUER 33,190 (40,920)| 29,730 (37, 460) |+ 3000 (370)| xmmEK 270 (340) | xmEE |+ (7,730)] (70xmnEx)
i 3 & R 40,920| (102, 860)| 37,460 (99, 400) |+ 370, (910)| xmE® 340 (880)| xmE= |+| 7 730 70X g
1804 oo 1. 2&R 102,860| (180, 210)[ 99,400 (176, 750) | + 910/ (1,690)| x mExE 880/ (1,660)| xmnExE
FT %7 |a w| | 180,210 176, 750 + 16w X I | 1, 660 X Mg
151A | om 4mUER 33,110/ (40,840)| 29,860 (37,590)|+ 3000 (370)| xmmEK 270)  (340) | xmEE |+ (7,730)] (70xmnEx)
i 3 & R 40,840| (102,780)| 37,590 (99, 530) |+ 370, (910)| xmE® 340 (880)| xmE= |+| 7 730 70X g
1604 oo 1. 2&R 102,780| (180, 130) 99,530 (176, 880) |+ 910/ (1,690)| x mEXE 880/ (1,660)| xmnEx
FT %7 | w| | 180,130 176, 880 + 16w X I | 1, 660 X Mg
1614 | 0 4mUER 32,240/ (39,970)| 29,190 (36, 920) |+ 290 (360)| xmnEK 2600 (330)| xmEE |+ (7,730)] (70xmnEx)
i 3 & R 39,970, (101,910) 36,920/ (98 860) |+ 360 (900)| xmE® 330 (870)| xm&E= |+| 7 730 70 X & &
170A oo 1. 28R 101,910| (179,260)[ 98,860 (176, 210) |+ 900/ (1,680)| x mEx 870 (1,650)| xmnExE
Rl D w| | 179,260 176, 210 +| 1680 X I | 1, 650 X Mg
)m |4RUER 31,450 (39,180)| 28,570/ (36, 300) |+ 290]  (360)] x mEX 2600  (330)[ xmEx |+[ 7 7300 GoxmEx)
1714 3 & R 39,180 (101,120)| 36,300 (98 230) |+ 360 (900)| xmE® 330 (870)| xmE= |+| 7 730 70X g
Bk gz 1. 28R 101,120] (178,470)| 98,230 (175,580) |+ 900/ (1,680)| x mEx 870/ (1,650)| x nExE
El 2 178, 470 175, 580 +[ 1,680 xmEx [ 1,650 X pRE R
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Itg% ERES IXEZ FiHEs = < bl < = L2 ~ xaugtéﬁiguﬁ\'m%
RAHER R RAHERK HERERR 5 ENBTFE LI
B | mwEm|E k| B B % BT | k| HHH o
©) @ ©) @ W) @ ®
om [ABULR Ayl | 13,800] 15,200] 9, 700/ 9, 700 a ol | 31,600] 35, 200] 22, 100] 22, 100 4500
104 3 ®m R Bityig; | 13,200| 14,500 9,200 9,200 b #y3 | 17,400| 19,400] 12,200 12, 200 '
< |32 |1 28R Cthig | 12,500| 13,700 8,700 8,700 o Hut | 15,200| 16,900] 10,600 10, 600
£ 7 Ditig; | 11,800) 13,000 8,200 8, 200 d#bis | 13,600] 15,100] 9,500 9, 500
1A g |4BHLER Attt | 6,900 7,600 4, 800 4 800 a i | 15, 800] 17,600] 11,000 11,000 4 500
nix 3 ®m R Bt | 6,600 7,200 4,600 4, 600 b#hig | 8,700/ 9,700 6,100 6 100 '
208 32 |1 2ER Cibsi | 6,200 6 800 4,300 4, 300 cHbis | 7,600 8 400[ 5 300 5, 300
=T 7 [n 7 Ditgszh | 5,900 6 500 4,100 4, 100 dihig | 6,800 7,500] 4,700 4 700
21 A g |4BHLER Attiig; | 4,800 5 300 3 300] 3 300 a i | 10,900] 12,200] 7,600] 7,600 4 500
"> 3 ®m R Bt | 4,600 5 000 3,200 3, 200 bl | 6,000 6,700| 4,200 4,200 [ . _ .. _ '
30N - [1. 28R Cibss | 4,500 4,900 3,100/ 3, 100 c bt | 5200 5 800[ 3600 3, 600 BEC £ DES
=T 35 : HKoFMBAEE
£ 7 Ditrizh | 4,200 4,700 3,000 3 000 dihig | 4,7000 5,200] 3,300 3 300
31A g |4BHLER Al | 4,200 4,600 2 900] 2 900 atwi | 9,800] 10,900[ 6,800] 6, 800 ~ 15X 4500
ni 3 ®m R Bt | 3,900 4,300 2,700 2 700 b#hig | 5,400 6,000 3,700 3 700 27, 330 '
40N am [1. 2ER Cthig | 3,800 4,100 2 600 2 600 cihig | 4,700 5,200 3,300 3 300
=T 77 [n 7 Ditgszh | 3,600 4 000 2 500 2 500 diis | 4,2000 4,600] 2,900 2 900 16A~ 256A
AN g |[4BHLER Attt | 3,800 4,200 2 600] 2 600 athig | 8,800 9,800 6 100 6 100 16, 800 4500
i 3 ®m R Bt | 3,600 4 000 2 500 2 500 b#hig | 4,800 5,400 3,400 3,400 '
50 A am [1. 2ER Cthig | 3,400 3,800 2 400 2 400 cihig | 4,200 4,700 2,900 2 900 26A~ 35
FT %7 |a 7 Ditrszh | 3,300 3,600 2 300 2 300 dihig | 3,800 4,200] 2,600 2 600 12, 280
51 A g |[4BHLER Attii; | 3,200] 3,500 2 200] 2 200 athig | 7,200 8 100] 5 100 5, 100 4 500
nix 3 ®m R Bigsh | 3,000 3 300[ 2 100/ 2 100 bii | 4,000] 4, 400] 2,800 2 800 36A~ 45A '
60A 3z [1. 2ER Cthig | 2,800/ 3,100[ 2 000 2 000 cihig | 3,500 3,800| 2 400 2 400 9,770
=T 77 [n 7 Ditgszh | 2,700 3,000 1,900 1,900 dhig | 3,100 3,400] 2,100 2 100
61 A g |4BHLER Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,300 7,100] 4,400 4, 400 46A~ 60N 4,500
i 3 ®m R Bt | 2 600 2 800 1,800 1,800 b#hig | 3,500 3,900 2 400 2 400 7, 500 '
PN 32 |1 2ER Cibss | 2 400 2,700 1,700 1,700 cHbfs | 3,000 3,400[ 2100 2 100
T 7 [n 7 Ditgszh | 2,300 2 600 1,600 1,600 dibi | 2 700) 3,000] 1,900 1,900 61 A~ T75A
A g |4BHLER Attiig; | 3,100] 3,400 2 100] 2 100 athig | 7,100 7,900] 4,900 4, 900 6, 130 4500
nix 3 ®m R Bt | 3,000 3 300[ 2 100/ 2 100 b#hig | 3,900 4,300 2700 2 700 '
80N 32 |1 2ER Cibsi | 2800 3,100 1,900 1,900 cHbts | 3,400 3,800[ 2 300 2 300 76 A~ 90N
=T 77 [n 7 Ditgsh | 2,700 2,900 1,800 1,800 dhig | 3,000 3,400 2,100 2 100 5, 220
81 A g |4BHLER Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,300 7,100] 4,400 4, 400 4500
nix 3 ®m R Bt | 2600 2 900 1,800 1,800 b | 3,500] 3,900] 2,400 2, 400 91 A~ 1054 '
A am [1. 2ER Cthig | 2,500 2 700 1,700 1,700 cihig | 3,000 3,400 2100 2 100 4, 660
20/100 FT |7 [ 7 Ditgsh | 2,400 2,600 1,600 1,600 dihig | 27000 3,000 1,900 1,900
wE | g 4 g |4BHLER Attiig; | 2,500 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 106 A~ 120X 4,500
nix 3 ®m R Bt | 2 400 2 600 1,600 1,600 b#hig | 3,000 3,400 2100 2 100 4, 250 '
100A 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800
=T [n 7 Ditgszh | 2,100 2,300 1,500 1,500 dibi | 2400/ 2,600] 1,600 1,600 121 A~ 135A
1008 | g [4ESLR Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,100 6 800] 4,200 4, 200 3,920 4500
ni 3 ®m R Bt | 2 600 2 800 1,800 1,800 b#hig | 3,3000 3,700 2300 2 300 '
110N am [1. 2ER Cthig | 2400 2 700 1,700 1,700 cihig | 29000 3,200 2000 2 000 136 A~ 150
=T [n 7 Ditgszh | 2,300 2 600 1,600 1,600 dihig | 26000 2,900] 1,800 1,800 3, 660
MA | g [4ESRLR Attt | 2,500 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 4500
i 3 ®m R Bt | 2 400 2 600 1,600 1,600 bii | 3,000] 3,400] 2 100 2 100 161 A~ 180A '
1208 32 |1, 28R Cissi | 22000 2 400 1,500 1,500 cHul | 2600 2 900| 1,800 1,800 3, 160
Rl D 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 24000 2,600] 1,600 1,600
1218 | g [4EMLR Attt | 2,300] 2500 1,600 1,600 athig | 5100 5 700] 3,500 3 500 181 A~ 210A 4,500
nix 3 ®m R Bt | 2,200 2 400 1,500 1,500 b#hig | 28000 3,100 1,900 1,900 2,810 '
130 3z [1. 2ER Cthig | 2,000 2200 1,400 1,400 cihig | 24000 2700 1,700 1,700
=T 77 [n 7 Ditgszh | 2,000 2,200 1,400 1,400 dibi | 22000 2 400] 1,500 1,500 211 A~ 240N
131A | g [4EMLR Attt | 2, 400] 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 2,540 4500
i 3 ® R Bt | 2,300 2 600 1,600 1,600 b#hig | 3,000 3,400 2,100 2 100 '
140N am [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800 241 A~ 270N
=T |77 [n 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 2,400 2,600 1,600 1,600 2, 440
1A | g [4ERLR Attt | 2,300] 2500 1,600] 1,600 athig | 5400/ 6 000 3,700 3 700 4 500
nix 3 ®m R Bt | 2,200 2 400 1,500 1,500 b | 2900 3,300] 2,000 2 000 271 A~ 300A '
150 A am [1. 2ER Cthig | 2,100 2300 1,400 1,400 cihig | 25000 2800 1,800 1,800 2, 360
=T [n 7 Ditgssh | 2,000 2,200 1,400 1,400 dhig | 2,300 2,500 1,600 1,600
1514 | g [4EMLR Attiig | 2, 100] 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 301 A~ X 4500
nix 3 ®m R Bt | 2,000 2 300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 2,150 '
160.A 3z [1. 2ER Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
=T [n 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
1614 | 9a [4FMER Attt | 2,300] 2500 1,600] 1,600 atwis | 5 400] 6,000 3,700] 3,700 |384 0B 4 500
ni 3 ®m R Bt | 2,200 2 400 1,500 1,500 b | 2900 3,300 2000 2000 |[I<mE '
170X am [1. 2ER Cthig | 2,100 2,300 1,400 1,400 cihig | 25000 2800 1,800 1,800
=T 77 [n 7 Ditgszh | 1,900 2,100 1,300 1,300 dhig | 2,300 2,500 1,600 1,600
g |4BHLER Attt | 2,200 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 4500
171A 3 ®m R Btz | 2,100 2,300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 '
HE 3 [1. 2@R Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
£ 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
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110N am [1. 2ER Cthig | 2400 2 700 1,700 1,700 cihig | 29000 3,200 2000 2 000 136 A~ 150
=T [n 7 Ditgszh | 2,300 2 600 1,600 1,600 dihig | 26000 2,900] 1,800 1,800 3, 660
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1208 32 |1, 28R Cissi | 22000 2 400 1,500 1,500 cHul | 2600 2 900| 1,800 1,800 3, 160
=T 77 [n 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 24000 2,600] 1,600 1,600
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nix 3 ®m R Bt | 2,200 2 400 1,500 1,500 b#hig | 28000 3,100 1,900 1,900 2,810
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=T [n 7 Ditgssh | 2,000 2,200 1,400 1,400 dhig | 2,300 2,500 1,600 1,600
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nix 3 ®m R B | 2,000 2300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 2,150
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nix 3 ®m R B | 2,200 2400 1,500 1,500 b | 2900 3,300 2000 2000 |[I<ME '
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g |4BHLER Attt | 2,200 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 4,500
171A 3 ®m R B | 2,100 2,300 1,400 1,400 b#hig | 26000 2900 1,800 1,800
HE 32 [1. 2@R Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
£ 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
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2h |28 90,960 (98, 400)| 74, 220] (81, 660) |+ 880] (950)| x MEE 710] (780)[ x ik | +[ (7440 (Fox m#EE)
NS 98,400 (158, 320)| 81,660 (141,580)|+ 950| (1,470) x mEE 780] (1,300)] x = 7,440  70xmEE
KOS 158,320 (232,760)| 141,580 (216,020)|+| 1,470 (2,220)| xm&s | 1,300 (2, 050) x &=
T | 07 232, 760 216, 020 +| 2220 xmeE® | 2 050 X EE
A |28 73,350 (80,790)| 60,790 (68, 230) | + 700]  (770)] x X 580]  (650)| x Mgk |+[ (7.440)[ (70x m#E=E)
NS 80,790 (140,700)| 68,230 (128, 150)|+ 770] (1,290) x mEE 650 (1,170)| x = 7,440  70xmEE
wr o 140,700 (215, 140)| 128,150| (202, 590) | +| 1,290 (2, 040)| xmm&s | 1,170/ (1,920) xm&Es=
T | 07 215, 140 202, 590 +| 2040 xmeE® | 1,920 X MEE
N 68, 150] (75, 590)| 58, 110] (65, 560) | + 650]  (720)| x EE 550]  (620) x ik |+[ (7440 (70xm#E=E)
NS 75,590| (135,510)| 65,550 (125, 470)|+ 720] (1,240) x mEE 620] (1,140)| x mgm= 7,440 70xmEE
O 135,510| (209, 950)| 125, 470| (199,910)|+| 1,240 (1,990)| xm&s | 1,140 (1,890) xmEsz
T | 07 209, 950 199,910 +| 1,990 xmeEx | 1,890 X MEE
5 |28 59,600 (67,040)| 51,230 (58, 670)|+ 570] (640)| x MEE 480]  (550) | x gk | +[ (7440 (Fox m#E=E)
NS 67,040 (126,950)| 58, 670 (118, 580)|+ 640| (1,160) x mEE 550| (1,070)] x M= 7,440  70xmEE
S 126,950 (201,390)| 118,580 (193, 020)|+| 1,160 (1,910)| xm&s | 1,070 (1,820) xm&Es
T | 07 201, 390 193, 020 +| 1,910 xmeEx| 1,820 X EE
6h |28 53,560 (61,000)| 46,390 (53, 830) |+ 510]  (580)| x MEE 430]  (500)[ x ik | +[ (7440 (Fox )
NS 61,000 (120,920)| 53,830 (113, 750)|+ 580| (1,100) x mEE 500| (1,000)] x mgE= 7,440  70xmEE
LS 120,920 (195,360)| 113,750 (188,190)|+| 1,100 (1,850)| xm&s | 1,020 (1,770) xm&Es=
FT | 07 195, 360 188, 190 +| 1,850 xmeEx| 1,770 X MEE
A | om 49,090] (56,530)| 42,810 (50, 250) | +|  460] (530)] = mE = 400]  (470)[ xmEE |+[ 7, 440)] (70x mEx)
NS 56,530 (116,450)| 50,250 (110,170)|+ 530] (1,050) x mEE 470, (990)| x mEm= 7,440  70xmEE
O [ 116,450 (190,890)| 110,170 (184,610)|+| 1,050 (1,800) =&z 990/ (1,740)| x &%
T | 07 190, 890 184, 610 +| 1,800 xmeE® | 1,740 X EE
BN | 22 45560 (53,000)| 39,980] (47,420)|+| 430] (500)] x maE= 370]  (440)[ x x| +[ (7,440 (FoxmEx)
NS 53,000] (112,920)| 47,420 (107, 340)|+ 500| (1,020) x mmEE 440 (960)| x = 7,440  70xmEE
WA 112,920 (187,360)| 107,340 (181,780)|+| 1,020 (1,770) xmz= 960| (1,710)| x mE=
ar) A 187, 360 181, 780 +| 1770 xmE®= | 1,710 X Mg
5 o1 | om 39,460 (46, 900)| 34 430 (41,870)|+ 370]  (440)| X MEE 310]  (380)[ xmEE |+[ (7, 440)] (70x mEx)
e | 57 46,900] (106,820)| 41,870 (101,790)|+| 440 (960) xmzm= 380 (900)| x = 7,440  70xmEE
1004 | 106,820 (181, 260)| 101,790 (176, 230) | + 960| (1,710) x mEE 900| (1,650)| x mE®
FT | 07 181, 260 176, 230 +| 1,710 xmeE® | 1,650 X EE
A | 28 37,490] (44,930)| 32,920] (40, 360) |+ 350]  (420)| x EE 300]  (370)[ x x| +[ (7. 440 (Foxm#EE)
s 44,930] (104,850)| 40,360  (100,280)|+| 420 (940) x gz 370 (890)| x = 7,440  70xmEE
noa | 104,850 (179, 290)| 100,280 (174, 720) | + 940| (1,690)| x mME % 890| (1,640)| x E®
T | 07 179, 290 174,720 +| 1,690 xmeE® | 1,640 X IEE
A | o8 35,810] (43 250)| 31,620 (39, 060)|+ 330]  (400)| X NEE 200]  (360)[ xmEE |+[ (7, 440)] (70x mEx)
s 43,250 (103,170)| 39,060 (98,980)|+|  400] (920) xmEz 360 (880)| x = 7,440  70xmEE
1200 | 103,170 (177,610)| 98 980 (173, 420) |+ 920| (1,670) x mEE 880/ (1,630)| x mE %
T | 07 177,610 173, 420 +| 1670 xmeEx | 1,630 X MEE
2A | om 34,390] (41,830)| 30,530 (37,970)|+ 310]  (380)| x MEE 280]  (350)[ xmEE |+[ (7, 440)] (70x mEx)
s 41,830 (101,750)| 37,970 (97, 890) | + 380 (900) x mnEE 30| (870)] x = 7,440  70xmEE
A | 101,750 (176,190)| 97,890 (172, 330) |+ 900/ (1,650)| x mE% 870] (1,620)] x E®
FT | 07 176, 190 172, 330 +| 1,650 xmeE® | 1,620 X EE
BIA | o8 33,210] (40, 650)| 29,620 (37,060)|+ 300]  (370) xMEE 270]  (340)[ xmEE |+[ 7, 440)] (70x mEx)
s 40,650  (100,560)| 37,060 (96, 980) | + 370]  (890) x mEE 340 (860)| x = 7,440  70xmEE
LN 100,560  (175,000)| 96,980 (171, 420) |+ 890| (1,640)| xmE% 860 (1,610)] x E=®
T | 07 175, 000 171, 420 +| 1,640 xmeEx| 1,610 X MR
WA | om 32,150] (39,590)| 28,810 (36, 250)| + 290]  (360)| x MEE 260]  (330)[ xmEE |+[ (7, 440)] (70x mEx)
s 39,590 (99,510)| 36,250 (96,170 |+ 360 (880) xmEE 330 (850)| x = 7,440  70xmE=E
BOA | 99,510 (173,950)| 96,170 (170,610)|+|  880| (1,630) xmEE 850| (1,600)| x mE®
T | 07 173, 950 170, 610 +| 1,630 xmE® | 1,600 X g
BIA | om 32,100] (39,540)| 28,960 (36, 400)|+ 290]  (360)| x MEE 260]  (330)[ xmEE |+[ 7, 440)] (70x mEx)
oS 39,540 (99, 460)| 36,400 (96, 320) |+ 360 (880) xmEE 330 (850)| x = 7,440  70xmEE
1608 | 99,460 (173,900)| 96,3201 (170, 760) |+ 880| (1,630) xmEE 850| (1,600)| x mE®
T | 07 173, 900 170, 760 +| 1,630 xmeEx | 1,600 X MR
1A | o8 31,260] (38,700)| 28,300 (35 740)|+ 280]  (350)| X INEE 250]  (320)] xmEE |+[ 7, 440)] (70x mEx)
s 38,700 (98 620)| 35 740 (95 660)|+ 350 (870) xmEE 320 (840)| x = 7,440  70xmE=E
1A 98,620 (173,060)| 95,660 (170,100)|+ 870| (1,620) xmE* 840| (1,590)| x pE=
T | 07 173, 060 170, 100 +| 1620 xmeEx | 1,50 X MR
om 30,490] (37,930)| 27,700] (35 140)|+ 280]  (350)| X INEE 250]  (320)[ xmEE |+[ 7, 440)] (70x mEx)
A |57 37,930 (97,850)| 35 140 (95, 060)|+ 350 (870) xmEE 320 (840)| x = 7,440  70xmEE
SE | L 97,850| (172,290)| 95,060 (169, 500)|+ 870] (1,620)| xmE* 840| (1,590)| x E=
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om [ABULR Attiig; | 13,800] 15,200 9,700 9,700 a ol | 31,600] 35, 200] 22, 100] 22, 100 4500
3 ®m R Bt | 13,200| 14,500] 9,200 9, 200 b #y3 | 17,400| 19,400] 12,200 12, 200 '
10A am |12 2R Cthig | 12,500| 13,700 8,700 8,700 o Hut | 15,200| 16,900] 10,600 10, 600
=T 77 [n 7 Ditig; | 11,800) 13,000 8,200 8, 200 d#bis | 13,600] 15,100] 9,500 9, 500
1A g |4BHLER Attt | 6,900 7,600 4, 800 4 800 a i | 15, 800] 17,600] 11,000 11,000 4500
i 3 ®m R Bl | 6,600] 7,200 4 600 4 600 bl | 8 700] 9,700] 6 100 6 100 '
20X am |12 2R Cthig | 6,200 6,800 4, 300 4,300 cHul | 7,600 8 400| 5 300 5, 300
FT %7 |a 7 Dityig; | 5900 6,500 4,100 4,100 dibis | 6,800) 7,500] 4,700 4 700
21 A g |4BHLER Attiig; | 4,800 5 300 3 300] 3 300 a i | 10,900] 12,200] 7,600] 7,600 4500
i 3 ®m R Bty | 4,600 5 000 3,200 3 200 bl | 6,000 6 700| 4,200 4200 |_ . _ . '
30A - |1, 2®R Cthig | 4,500 4,900 3,100/ 3, 100 o 5200 5800| 3600 3600 [RESEBES
e | 3= [ HoOFBEEER
£ 7 Dityig; | 4,200 4 700/ 3,000 3 000 diis | 4,700) 5,200] 3,300 3 300
31A g |4BHLER Al | 4,200 4,600 2 900] 2 900 atwi | 9,800] 10,900[ 6,800] 6, 800 ~ 15X 4500
i 3 ®m R Byl | 3,900 4,300 2 700 2 700 bii | 5 400| 6,000 3,700 3, 700 27, 330 '
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60.A am |12 2R Cthig | 2,800/ 3,100[ 2 000 2 000 ool | 3,500] 3,800] 2,400 2 400 9,770
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16/100 sl S ED 7 Dityig; | 2,400 2 600 1,600 1,600 dii | 2 700) 3,000] 1,900 1,900
wE | g 4 g |4BHLER Attiig; | 2,500 2 700 1,700 1,700 atwi | 5 500] 6 200 3,900 3 900 106 A~ 120X 4 500
i 3 ®m R By | 2,400 2 600 1,600 1,600 bii | 3,000] 3,400] 2,100 2 100 4, 250 '
100A 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cHuly | 2600 2 900| 1,800 1,800
FT %7 |a 7 Dityig; | 2,100/ 2,300 1,500 1,500 dibi | 2400/ 2,600] 1,600 1,600 121 A~ 135A
00A | g [4ERLR Attiig; | 2,700] 3,000 1,900 1,900 atwis | 6 100] 6,800] 4 200] 4 200 3,920 4500
ni 3 ®m R By | 2,600 2 800 1,800 1,800 bii | 3,300] 3,700] 2,300 2 300 '
110A 3z [1. 2ER Cthig | 2400 2 700 1,700 1,700 ool | 2900 3,200 2,000 2 000 136 A~ 150
FT %7 |a 7 Dityig; | 23000 2 600/ 1,600 1,600 dibi | 2600 2900] 1,800 1,800 3, 660
MA | g [4ERLR Attt | 2,500 2 700 1,700 1,700 atwis | 5 500] 6 200 3,900 3 900 4500
ni 3 ®m R Bty | 2,400 2 600 1,600 1,600 bii | 3,000] 3,400] 2 100 2 100 161 A~ 180A '
120 A 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cHul | 2600 2 900| 1,800 1,800 3, 160
FT %7 |a 7 Dityig; | 2,100 2,300 1,500 1,500 dibi | 2 400) 2,600] 1,600 1,600
1218 | g [4EMLR Attt | 2,300] 2500 1,600 1,600 atwi | 5 100] 5 700] 3,500] 3, 500 181 A~ 210A 4,500
i 3 ®m R Bty | 2,200 2 400 1,500 1,500 bl | 2800 3,100] 1,900 1,900 2,810 '
130 sz |12 2R Cthig | 2,000 2200 1,400 1,400 ool | 2400 2,700] 1,700 1,700
=T [n 7 Dityig; | 2,000 2 200 1,400 1,400 dibi | 22000 2 400] 1,500 1,500 211 A~ 240N
181A | g [4EMLR Attt | 2, 400] 2 700 1,700 1,700 atwis | 5 500] 6 200 3,900 3 900 2,540 4500
i 3 ® R Byl | 2,300) 2 600 1,600 1,600 bl | 3,000] 3,400] 2 100 2 100 '
140 A am [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cHul | 2600 2 900| 1,800 1,800 241 A~ 270N
FT %7 |a 7 Dityig; | 2,100 2,300 1,500 1,500 diis | 2 400) 2 600] 1,600 1,600 2, 440
1A | e [4ERLR Attt | 2,300] 2500 1,600] 1,600 atwis | 5 400] 6 000] 3 700 3 700 4500
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om 228, 850| (236, 120)| 179, 680] (186, 950)| +| 2,260 (2, 330)] <ME= | 1,770 (1,840)] xM&E=E |+[ (7, 270)] (70 MEE)
= 236,120 (294, 810)| 186,950 (245, 640)|+| 2,330 (2, 840) =&k | 1,840 (2, 350) x & 7,000 70xmE®
[LZN 294,810 (367,520)| 245,640 (318,350)[+| 2 840 (3, 560)| x &= | 2 350 (3, 070) xmE®
T | 07 367, 520 318, 350 +| 3560 xmeEx| 3070 X EE
A | 2s 124,170] (131, 440)| 99,590] (106, 860)|+| 1,210] (1, 280)| = &% 970] (1, 040)[ x ik | +[ (7. 270 (70x =)
NS 131,440 (190, 130)| 106,860| (165, 550) | +| 1,280 (1,790)| xmask | 1,040 (1,560)| x mEsk 7,000  70xmgE®
O 190,130| (262, 840)| 165,550 (238, 260) | +| 1,790 (2, 510)| xm&s | 1,550 (2, 270) xmE®=
FT | 07 262, 840 238, 260 +| 2510 xmeEx| 2270 X EE
2h |28 89, 170] (96, 440)| 72,780 (80, 050) | + 860 (930)| x MEE 7000 (770)] x x| +[ (7. 270 (Fox m#Ex)
NS 96,440| (155,130)| 80,050 (138, 740)|+ 930| (1,440) x mEE 770| (1, 280)| x = 7070 70xmmE
KOS 155, 130| (207, 840)| 138,740| (211, 450)|+| 1,440 (2, 160)| xm&Es | 1,280 (2, 000) xmEs=
EX 227, 840 211, 450 +| 2160 xmeE= | 2000 X EE
A |28 71,870] (79, 140)| 59,580 (66, 850) |+ 690  (760) x EE 570]  (640)[ x gk | +[ (7270 (70x %)
NS 79,140) (137,830)| 66,850 (125, 540)|+ 760| (1,270) x mEE 640| (1,150)| x = 7070 70xmmE
LS 137,830 (210,540)| 125,540 (198, 250)|+| 1,270  (1,990)| xm&s | 1,150 (1,870) xm&Es=
FT | 07 210, 540 198, 250 +| 1,990 xmeEx| 1,870 X MEE
ax | 2= 66, 770] (74, 040)| 56,930 (64, 200)| + 640]  (710)| x EE 540]  (610)] x sk |+[ (7270 (7ox %)
NS 74,040) (132,720)| 64,200 (122, 890)|+ 710] (1,220) x mEE 610 (1,120)| x = 7070 70xmmE
SO 132,720| (205, 430)| 122,890| (195, 600)|+| 1,220 (1,940)| x & | 1,120 (1,840) xmEs=
T | 07 205, 430 195, 600 +| 1,940 xmE® | 1,840 X MEE
5 |28 58, 380 (65, 650)| 50,190 (57, 460) |+ 550]  (620) X MEE 470]  (540)[ x gk | +[ (7. 270 (70ox )
NS 65,650 (124,340)| 57,460 (116,150)|+ 620] (1,130) x mEE 540| (1,080)| x M= 7,070 70xmEE
O 124,340 (197,050)| 116,150 (188, 860)|+| 1,130 (1,850)| xm&s | 1,050 (1,770) xm&Es
T | 07 197, 050 188, 860 +| 1,850 xmeEx| 1,770 X EE
6h |28 52,470] (59, 740)| 45,450 (52, 720) | + 500] (570) x MEE 430]  (500)[ x gk | +[ (7. 270 (70x )
NS 59,740| (118,430)| 52,720 (111, 410)|+ 570| (1,080) x mEE 500| (1,010)] x = 7,070 70xmEE
Ao 118,430] (191, 140)| 111,410 (184,120)|+| 1,080 (1,800)| xm&s | 1,010 (1,730) xmEs
T | 07 191,140 184,120 +| 1,800 xmeE®| 1,730 X MEE
A |2m 48,090 (55, 360)| 41,950] (49, 220)|+|  450] (520)] =< mE= 390]  (460)[ xmgx | +[ (7. 270 (Fox m#EE)
NS 55,360 (114,050)| 49,220 (107, 910)|+ 520] (1,080) x mEE 460 (970)] x = 7070 70xmEE
O 114,050 (186,760)| 107,910 (180,620)|+| 1,030 (1,750) xmE= 970| (1,690)| x mE®
FT | 07 186, 760 180, 620 +| 1,750 xmeE® | 1,690 X EE
BA |28 44,640] (51,910)| 39,180] (46, 450) | +|  420] (490) = mE= 360]  (430)] x gk | +[ (7270 (Fox m#Ex)
NS 51,910 (110,600)| 46,450 (105, 140)|+|  490] (1,000) x M= 430 (940)| x = 7070 70xmEE
WA 110,600 (183,310)| 105,140 (177,850)|+| 1,000 (1,720) x mE= 940| (1, 660)| x =
127100  FT |7 183, 310 177, 850 +| 1,720 xmE®= | 1,660 X Mg
w5 o1 | om 38,690] (45, 960)| 33,780 (41,050)|+ 360]  (430)| x MEE 310]  (380)[ xmEE |+ 7, 270)] (70x mEx)
N 45,960 (104,650)| 41,050 (99, 740)|+|  430] (940) xmmz 380 (890)| x = 7,000 70xmE®
100N | 104,650 (177,360)| 99,740 (172, 450) |+ 940/ (1,660)| x mME* 890| (1,610)] x E=x
FT | 07 177, 360 172, 450 +| 1,660 xmeEx| 1,610 X EE
A | 28 36,760] (44, 030)| 32,290 (39,560)|+ 340]  (410)| xMEE 200]  (360)[ xmEE |+ 7,270)] (70x mEx)
s 44,030 (102,720)| 39,560 (98, 250)|+|  410] (920) xmmz 360 (870)] x mEm= 7,000 70xmE®
noa | 102,720 (175,430)| 98,250 (170, 960) | + 920| (1,640) x mEE 870/ (1,590)| x mE %
FT | 07 175, 430 170, 960 +| 1,640 xmeE® | 1,50 X IEE
A | 28 35,120] (42,390)| 31,020 (38,290)|+ 320]  (390)| X MEE 280]  (350)[ xmEE |+ 7, 270)] (70x mEx)
s 42,390 (101,080)| 38,290 (96, 980) | + 390 (900) x mnEE 350 (860)| x M= 7,000 70xmE®
1200 | 101,080 (173,790)| 96,980 (169, 690) |+ 900| (1,620)| xmE* 860/ (1,580)| x mE %
T | 07 173,790 169, 690 +| 1620 xmeEx | 1,580 X MEE
A | 28 33,720] (40, 990)| 29,940 (37,210)|+ 310]  (380)| x MEE 270]  (340)[ xmEE |[+[ 7, 270)] (70x mEx)
s 40,990 (99, 680)| 37,210 (95, 900) | + 380 (890) x mnEE 340 (850)| x = 7,000 70xmE®
1304 [ 99,680 (172,390)| 95,900 (168,610)|+ 890| (1,610) x mEE 850 (1,570)| x e
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REHEER HAEER S AR HREED S ENBHF L L DI
B | mwEm|E k| B B % BT | k| HHH o
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pm |4BLLER| | At [ 13800] 15200 9,700 9,700 a ol | 31,600] 35, 200] 22, 100] 22, 100 4500
3 ®m R Bt | 13,200| 14,500] 9,200 9, 200 b #y3 | 17,400| 19,400] 12,200 12, 200 '
[UN am |12 2R Cthig | 12,500| 13,700 8,700 8,700 o Hut | 15,200| 16,900] 10,600 10, 600
FT %7 |a 7 Ditig; | 11,800) 13,000 8,200 8, 200 d#bis | 13,600] 15,100] 9,500 9, 500
A pg |4BMULER| | At 6900 76000 4800 4800 a i | 15, 800] 17,600] 11,000 11,000 4500
ni 3 ®m R Bl | 6,600] 7,200 4 600 4 600 bl | 8 700] 9,700] 6 100 6 100 '
208 am |12 2R Cthig | 6,200 6,800 4, 300 4,300 cHul | 7,600 8 400| 5 300 5, 300
FT %7 |a 7 Dityig; | 5900 6,500 4,100 4,100 dibis | 6,800) 7,500] 4,700 4 700
21 A pg [4BMULER| | At 4800 53000 3300/ 3300 a i | 10,900] 12,200] 7,600] 7,600 4500
ni 3 ®m R Bty | 4,600 5 000 3,200 3 200 bl | 6,000 6 700| 4,200 4200 | . _ . '
30A - |1, 2®R Cthig | 4,500 4,900 3,100/ 3, 100 o 5200 5800| 3600 3600 |RESEBES
e | 3= [ HOFAEER
£ 7 Dityig; | 4,200 4 700/ 3,000 3 000 diis | 4,700) 5,200] 3,300 3 300
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51 A pg [4BMULER| | At 32000 35000 22000 2, 200 atwis | 7,200] 8 100[ 5 100] 5 100 4 500
ni 3 ®m R By | 3,000 3 300[ 2100 2 100 bii | 4,000] 4, 400] 2,800 2 800 36A~ 45N '
60A sz |12 2R Cthig | 2,800/ 3,100[ 2 000 2 000 ool | 3,500] 3,800] 2,400 2 400 9,770
FT %7 |a 7 Dityig; | 2,700/ 3,000 1,900 1,900 dibi | 3,100] 3,400] 2,100 2 100
61 A pg |4BMULER| | At 27000 30000 1,900/ 1,900 atwis | 6,300] 7,100] 4 400] 4 400 46A~ 60N 4 500
ni 3 ®m R Byl | 2,600 2 800 1,800 1,800 bii | 3,500] 3,900] 2 400 2, 400 7, 500 '
T0A am |12 2R Cthig | 2400 2,700 1,700 1,700 cHul | 3,000] 3,400] 2,100 2 100
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N pm [4BMULER| | At 31000 34000 2100[ 2,100 atwi | 7,100] 7,900] 4 900] 4 900 6, 130 4 500
ni 3 ®m R By | 3,000 3 300[ 2100 2 100 bl | 3,900] 4,300 2 700 2 700 '
80N 32 |1 2ER Cibsi | 2800 3,100 1,900 1,900 cHbts | 3,400 3,800[ 2 300 2 300 76 A~ 90N
=T 77 [n 7 Dityig; | 2,700/ 2,900 1,800 1,800 dibi | 3,0000 3,400] 2,100 2 100 5, 220
81 A pm [4BMULER| | At 27000 30000 1,000 1,900 atwis | 6,300] 7,100] 4 400] 4 400 4 500
ni 3 ®m R By | 2,600 2 900 1,800 1,800 b | 3,500] 3,900] 2,400 2, 400 91 A~ 1054 '
A sz |12 2R Cthig | 2,500 2 700 1,700 1,700 cHuly | 3,000] 3,400] 2,100 2,100 4, 660
12/100 FT %7 |a 7 Dityig; | 2,400 2 600 1,600 1,600 dii | 2 700) 3,000] 1,900 1,900
wE | g 4 pm [4BMULER| | At 25000 27000 1,700[ 1,700 atwi | 5 500] 6 200 3,900 3 900 106 A~ 120X 4 500
ni 3 ®m R By | 2,400 2 600 1,600 1,600 bii | 3,000] 3,400] 2,100 2 100 4, 250 '
100A o 1. 28R Cthig | 2,200 2 400 1,500 1,500 cHuly | 2600 2 900| 1,800 1,800
FT %7 |a 7 Dityig; | 2,100/ 2,300 1,500 1,500 dibi | 2400/ 2,600] 1,600 1,600 121 A~ 135A
1018 | pg [4EMLER| [Asti#  2700] 3000[ 1,900 1,900 atwis | 6 100] 6,800] 4 200] 4 200 3,920 4 500
ni 3 ®m R By | 2,600 2 800 1,800 1,800 bii | 3,300] 3,700] 2,300 2 300 '
oA oo 1. 28K Cthig | 2400 2 700 1,700 1,700 ool | 2900 3,200 2,000 2 000 136 A~ 150
FT %7 |a 7 Dityig; | 23000 2 600/ 1,600 1,600 dibi | 2600 2900] 1,800 1,800 3, 660
1MA | g [4BSER| [Asts [ 25000 2,700] 1,700] 1,700 atwis | 5 500] 6 200 3,900 3 900 4500
ni 3 ®m R Bty | 2,400 2 600 1,600 1,600 bii | 3,000] 3,400] 2 100 2 100 151 A~ 180A '
1200 oo 1. 28R Cthig | 2,200 2 400 1,500 1,500 cHul | 2600 2 900| 1,800 1,800 3, 160
FT %7 |a 7 Dityig; | 2,100 2,300 1,500 1,500 dibi | 2 400) 2,600] 1,600 1,600
1218 | pg [4EMLER| |Ast#  2300] 2600( 1,600] 1,600 atwi | 5 100] 5 700] 3,500] 3, 500 181 A~ 210A 4 500
ni 3 ®m R Bty | 2,200 2 400 1,500 1,500 bl | 2800 3,100] 1,900 1,900 2,810 '
1B0A oo 1. 28R Cthig | 2,000 2200 1,400 1,400 ool | 2400 2,700] 1,700 1,700
FT %7 |a 7 Dityig; | 2,000 2 200 1,400 1,400 dibi | 22000 2 400] 1,500 1,500 211 A~ 240N
181A | pg [4EMLER| |Asti#  2400] 2,700[ 1,700] 1,700 atwis | 5 500] 6 200 3,900 3 900 2,540 4 500
ni 3 ® R Byl | 2,300) 2 600 1,600 1,600 bl | 3,000] 3,400] 2 100 2 100 '
MOA o 1. 28R Cthig | 2,200 2 400 1,500 1,500 cHul | 2600 2 900| 1,800 1,800 241 A~ 270N
FT %7 |a 7 Dityig; | 2,100 2,300 1,500 1,500 diis | 2 400) 2 600] 1,600 1,600 2, 440
1A | g [4BSMER| [Asts ] 23000 2,500] 1,600 1,600 atwis | 5 400] 6 000] 3 700 3 700 4500
ni 3 ®m R Bl | 2 200] 2 400| 1,500 1,500 b | 2900 3,300] 2,000 2 000 271 A~ 300A '
S I YT Cissi | 2,100/ 2 300| 1,400 1,400 cHul | 2500 2 800| 1,800 1,800 2, 360
=T 77 [n 7 Dityig; | 2,000 2 200 1,400 1,400 dii | 2300] 2 500] 1,600 1,600
151A | pg [4FMLER| |Ast#  2100] 2400[ 1,500] 1,500 atwis | 4,800] 5 400] 3,400] 3, 400 301 A~ + 4500
ni 3 ®m R B | 2 000] 2 300] 1,400 1,400 b | 2600 2 900] 1,800 1,800 2,150 '
1600 oo 1. 28R Cthig | 1,900 2100 1,300 1,300 ool | 2300] 2 500] 1,600 1,600
R D 7 Dityig; | 1,800 2 000 1,300 1,300 dii | 20000 2 300] 1,400 1,400
1614 | o |4REER| | At [ 23000 2500[ 1,600 1,600 atwis | 5 400] 6,000 3,700] 3,700 |%384 0B 4 500
ni 3 ®m R Bl | 2 200] 2 400| 1,500 1,500 b | 2900 3,300 2000 2000 |[I<ME '
7Aoo |1, 28R Cthig | 2,100 2,300 1,400 1,400 ol | 2500 2 800| 1,800 1,800
FT %7 |a 7 Dityig | 1,900 2100 1,300 1,300 dii | 2300] 2 500] 1,600 1,600
pg [4BMULER| | At 22000 24000 1,500 1,500 atwis | 4,800] 5 400] 3,400] 3, 400 4 500
171A 3 ®m R B | 2 100] 2,300] 1,400 1,400 bl | 2600 2 900] 1,800 1,800 '
Bk 3 |12 2ER Cthig | 1,900 2100 1,300 1,300 ool | 2 300] 2 500] 1,600 1,600
£ 7 Diyig; | 1,800 2 000 1,300 1,300 dii | 2000 2 300] 1,400 1,400
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NS 129,670 (187,560)| 105, 430| (163, 320)|+| 1,270/ (1,770)| xmask | 1,020 (1,520)| x mEsk 7,150  70xmEE
20 |, 187,560 (259, 100)| 163,320 (234,860)|+| 1,770 (2, 480)| xm&s | 1,520 (2, 230) xmEs=
T | 07 259, 100 234, 860 +| 2480 xmeE® | 2230 X EE
2h |28 87,980 (95 130)| 71,820 (78,970)|+ 850]  (920)| x MEE 690]  (760)[ x ik | +[ (7. 150 (70x m#Ex)
NS 95,130 (153, 020)| 78,970 (136, 860)|+ 920| (1,420) x mEE 760| (1,260)| x mgE= 7,150  70xmEE
oA | g 153, 020| (204, 560)| 136,860 (208, 400) | +| 1,420 (2, 130)| xm&s | 1,260 (1,970) xmEs=
T | 07 224, 560 208, 400 +| 2130 xmeEx| 1,970 X EE
A |28 70,890 (78,040)| 58 770] (65, 920) |+ 680] (750)| x EE 560]  (630)| x m#E |+[ (7. 150)[ (70xm#Ex)
NS 78,040 (135,930)| 65 920 (123 810)|+ 750| (1,250) x mEE 630] (1,130)| x = 7,150  70xmEE
LS 135,930 (207, 470)| 123,810] (195,350)|+| 1,250 (1,960)| xmm&s | 1,130 (1,840) xmEs
T | 07 207, 470 195, 350 +| 1,960 xmeE® | 1,840 X MEE
N 65,840 (72, 990)| 56,150 (63, 300) |+ 630]  (700) x X 530]  (600)] x mgiE |+[ (7. 150)[ (70xm#Ex)
NS 72,990| (130,880)| 63,300 (121,180)|+ 700] (1,200) x mEE 600| (1,100)] x mgE= 7,150  70xmEE
oA | oo 130,880| (202, 420)| 121,180] (192, 720)|+| 1,200 (1,910)| xm&s= | 1,100 (1,810) xmE®=
T | 07 202, 420 192,720 +| 1,910 xmeEx| 1,810 X MEE
5. | 2m 57,570 (64, 720)| 49,490 (56, 640) |+ 550]  (620) X MEE 470]  (540)[ x gk | +[ (7. 150 (70x m#EE)
NS 64,720 (122,610)| 56,640 (114, 530)|+ 620] (1,120) x mEE 540| (1,040)] x mgE= 7,150  70xmEE
oA | 122,610 (194, 150)| 114,530] (186,070)|+| 1,120 (1,830)| xm&s | 1,040 (1,750) xm&Es=
T | 07 194, 150 186, 070 +| 1,830 xmeE® | 1,750 X EE
6h |28 51,750] (58,900)| 44820 (51,970)|+|  490] (660) x mE= 420]  (490)[ x gk | +[ (7. 150 (7ox m#EE)
NS 58,900 (116,790)| 51,970 (109, 860)|+ 560| (1,060) x mEE 490 (990)| x mEm= 7,150  70xmEE
LS 116,790 (188,330)| 109,860  (181,400)|+| 1,060 (1,770) xmE= 990| (1,700)| x mE®
T | 07 188, 330 181, 400 +| 170 xmeEx | 1,700 X MEE
A | 2z 47430 (54,580)| 41.370] (48.520)|+|  440] (510)] xmaE= 380]  (450)[ x gk |+[ (7. 150 (70x m#Ex)
NS 54,580 (112,470)| 48,520 (106, 410)|+ 510 (1,010) x mEE 450 (950)| x = 7,150  70xmEE
O 112,470 (184,010)| 106,410 (177,950)|+| 1,010 (1,720) xmz= 950| (1, 660)| x mE®
T | 07 184,010 177, 950 +| 1,720 xmeEx | 1,660 X EE
Bh |28 44,020] (51, 170)| 38 640] (45, 790)|+|  410] (480) xmE= 360]  (430)] x gk | +[ (7. 150 (F0xm#Ex)
NS 51,170 (109,060)| 45,790 (103,680)|+|  480] (980) x = 430 (930)| x = 7,150  70xmEE
S 109,060 (180, 600) | 103,680 (175, 220) | + 980| (1,690) xmEE 930| (1,640)| x mEE
10100  FT| T 180, 600 175, 220 +| 1,690 xmE® | 1,640 X Mg
5 [0 | om 38,100 (45, 340)| 33,340 (40, 490) |+ 350]  (420)| X NEE 300]  (370)[ xmEE |+ 7,150)] (70x mEx)
N 45,340] (103,230)| 40,490 (98,380)|+| 420 (920) xmzm= 370 (870)] x mEm= 7,150  70xmEE
100N | 103,230 (174, 770)| 98,380 (169, 920) |+ 920] (1,630)| xmE* 870] (1,580)| x mE®
T | 07 174,770 169, 920 +| 1,630 xmeEx | 1,580 X EE
0A | 28 36,280] (43 430)| 31,870] (39,020)|+ 330]  (400) X MEE 200]  (360)[ xm&E |+[ (7,150)] (70x mEx)
oS 43,430] (101,320)| 39,020 (96,910)|+| 400 (900) xmEm= 360  (860)| x M= 7,150  70xmEE
noa | 101,320 (172,860)| 96,910 (168, 450) |+ 900| (1,610) x mEE 860 (1,570)| x m#=®
FT | 07 172, 860 168, 450 +| 1610 xmeEx| 1,570 X IEE
A | o8 34,650] (41,800)| 30,610 (37,760)|+ 320]  (390)| X MEE 280]  (350)[ xmEE |+[ (7,150)] (70x mEx)
oS 41,800 (99,690)| 37,760 (95, 650) | + 390 (890) x mmEE 350 (850)| x M= 7,150  70xmEE
120A | 99,600 (171,230)| 95,650 (167, 190) |+ 890/ (1,600)| xmME* 850| (1,560)| x E®
FT | 07 171, 230 167,190 +| 1,600 xmeEx | 1,560 X MEE
2A | o8 33,280] (40, 430)| 29,550 (36, 700)|+ 300]  (370) xMEE 270]  (340)[ xmEE |+ 7,150)] (70x mEx)
oS 40,430 (98,320)| 36,700 (94, 590) | + 370]  (870) xmEE 340 (840)| x = 7,150  70xmEE
A | 98,320 (169,860)| 94,500 (166, 130) |+ 870| (1,580)| xmME% 840| (1,550)| x mE=®
T | 07 169, 860 166, 130 +| 1,580 xmeEx | 1,550 X EE
BIA | om 32,130] (39,280)| 28,670 (35 820)|+ 290]  (360)| x MEE 260]  (330)[ xm&E |+[ (7,150)] (70x mEx)
oS 39,280 (97,170)| 35820 (93 710)|+ 360 (860) xmEE 330 (830)] xmEm= 7,150  70xmEE
A | 97,170 (168,710)| 93,710/ (165, 250) |+ 860/ (1,570)| xmME* 830] (1,540)| x E=®
T | 07 168, 710 165, 250 +| 1570 xmeEx | 1,540 X MR
WA | om 31,110] (38,260)| 27,880 (35 030)|+ 280]  (350)| X INEE 250]  (320)[ xmEE |+ (7,150)] (70x mEx)
oS 38,260 (96,150)| 35080 (92 920)|+ 350 (850) x mnEE 320 (820)] x = 7,150  70xmEE
VNN 96,150| (167,690)| 92,920 (164, 460)|+| 850/ (1,560) x &% 820| (1,530)| x mE %
T | 07 167, 690 164, 460 +| 1,560 xmE® | 1,530 X g
BIA | om 31,000] (38 240)| 28,060 (35 210)|+ 280]  (350)| X INEE 250]  (320)[ xmEE |+[ (7,150)] (70x mEx)
oS 38,240 (96,130)| 35,210 (93 100)|+ 350 (850) xmnEE 320 (820)] x = 7,150  70xmEE
160A | 96,130| (167,670)| 93,100/ (164, 640)|+ 850| (1,560)| x mME% 820] (1,530)| x mE®
T | 07 167, 670 164, 640 +| 1,560 xmeEx | 1,530 X MR
1A | om 30,270] (37,420)| 27,420 (34 570)|+ 270]  (340)| X MEE 240]  (310)[ xmEE [+ 7,150)] (70x mEx)
s 37,4200 (95 810)| 34,570 (92, 460)|+ 340 (840) x mEE 30| (810)] x = 7,150  70xmEE
1A 95,310 (166,850)| 92,460 (164, 000) |+ 840| (1,550)| x mME% 810] (1,520)| x =
FT | 07 166, 850 164, 000 +| 1,550 xmeEx | 1,520 X MR
om 29,530] (36, 680)| 26,830 (33 980)|+ 270]  (340)| X EE 240]  (310)[ xmEE |+ 7,150)] (70x mEx)
A |7 36,680 (94,560)| 33,980 (91,870)|+ 340 (840) x mEE 30| (810)] xmEm= 7,150  70xmEE
SE | L 94,560| (166,100)| 91,870 (163 410)|+ 840| (1,550)| x &% 810] (1,520)| x e=x
~ 166, 100 163, 410 +| 1,550 xmE® | 1,520 X g
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REHEER HAEER S RAHERK HERERR 5 ENBHF L L DI
B | mwEm|E k| B B % BT | k| HHH o
©) @ ©) @ W) @ ®
om [ABULR At | 13,800] 15,200] 9, 700/ 9, 700 a ol | 31,600] 35, 200] 22, 100] 22, 100 4500
3 ®m R Bt | 13,200| 14,500] 9,200 9, 200 b #hig | 17,400| 19, 400| 12,200 12, 200 '
10A 3z [1. 2ER Cthig | 12,500| 13,700 8,700 8,700 c g | 15,200| 16,900| 10,600 10, 600
FT %7 |a 7 Ditig; | 11,800) 13,000 8,200 8, 200 d#hig | 13,600/ 15,100] 9,500 9, 500
1A g |[4BHLER Attt | 6,900 7,600 4, 800 4 800 athig | 15,800] 17,600 11,000] 11, 000 4500
nix 3 ®m R B | 6,600 7,200 4,600 4, 600 b#hig | 8,700/ 9,700 6,100 6 100 '
20 A 3z |1 2ER Cthig | 6,200 6,800 4, 300 4,300 cihig | 7,600 8 400| 5,300 5, 300
FT %7 |a 7 Ditgszh | 5,900 6 500 4,100 4, 100 dihig | 6,800 7,500] 4,700 4 700
21 A g |4BHLER Attiig; | 4,800 5 300 3 300] 3 300 athig | 10,900] 12,200 7,600 7,600 4500
"> 3 ®m R Bt | 4,600 5 000 3,200 3, 200 bl | 6,000 6 700| 4,200 4200 |_ . _ . '
30N - [1. 28R Cibss | 4,500 4,900 3,100/ 3, 100 c bt | 5200 5 800[ 3600 3, 600 BE-LLES
e | 3% | HoOFBEEER
£ 7 Ditrizh | 4,200 4,700 3,000 3 000 dihig | 4,7000 5,200] 3,300 3 300
31 A g |[4BHLER Al | 4,200 4,600 2 900] 2 900 atwi | 9,800] 10,900[ 6,800] 6, 800 ~ 15X 4500
i 3 ®m R Bt | 3,900 4,300 2,700 2 700 b#hig | 5,400 6,000 3,700 3 700 27, 330 '
40N 3z [1. 2ER Cthig | 3,800 4,100 2 600 2 600 cihig | 4,700 5,200 3,300 3 300
FT %7 |a 7 Ditgszh | 3,600 4 000 2 500 2 500 diis | 4,2000 4,600] 2,900 2 900 16A~ 256A
AN g |[4BHLER Attt | 3,800 4,200 2 600] 2 600 athig | 8,800 9,800 6 100 6 100 16, 800 4500
nix 3 ®m R Bt | 3,600 4 000 2 500 2 500 b#hig | 4,800 5,400 3,400 3,400 '
50 A am [1. 2ER Cthig | 3,400 3,800 2 400 2 400 cihig | 4,200 4,700 2,900 2 900 26A~ 35
=T 7 [n 7 Ditrszh | 3,300 3,600 2 300 2 300 dihig | 3,800 4,200] 2,600 2 600 12, 280
51 A g |[4BHLER Attii; | 3,200] 3,500 2 200] 2 200 athig | 7,200 8 100] 5 100 5, 100 4 500
nix 3 ®m R Bigsh | 3,000 3 300[ 2 100/ 2 100 bii | 4,000] 4, 400] 2,800 2 800 36A~ 45A '
60N 32 |1 2ER Cibsi | 2800 3,100 2,000 2 000 c bt | 3,500 3,800 2 400 2 400 9,770
=T [n 7 Ditgszh | 2,700 3,000 1,900 1,900 dhig | 3,100 3,400] 2,100 2 100
61 A g |4BHLER Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,300 7,100] 4,400 4, 400 46A~ 60N 4 500
i 3 ®m R Bt | 2 600 2 800 1,800 1,800 b#hig | 3,500 3,900 2 400 2 400 7, 500 '
T0A 3z [1. 2ER Cthig | 2400 2,700 1,700 1,700 cihig | 3,000 3,400 2 100 2 100
FT %7 |a 7 Ditgszh | 2,300 2 600 1,600 1,600 dibi | 2 700) 3,000] 1,900 1,900 61 A~ T75A
A g |[4BHLER Attiig; | 3,100] 3,400 2 100] 2 100 athig | 7,100 7,900] 4,900 4, 900 6, 130 4500
ni 3 ®m R Bt | 3,000 3 300[ 2 100/ 2 100 b#hig | 3,900 4,300 2700 2 700 '
80N 32 |1 2ER Cibsi | 2800 3,100 1,900 1,900 cHbts | 3,400 3,800[ 2 300 2 300 76 A~ 90N
=T 7 [n 7 Ditgsh | 2,700 2,900 1,800 1,800 dhig | 3,000 3,400 2,100 2 100 5, 220
81 A g |4BHLER Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,300 7,100] 4,400 4, 400 4 500
nix 3 ®m R Bt | 2600 2 900 1,800 1,800 b | 3,500] 3,900] 2,400 2, 400 91 A~ 1054 '
A 32 |1 2ER Cibssi | 2,500 2,700 1,700 1,700 cHbts | 3,000 3,400[ 2 100 2 100 4,660
10/100 FT |7 [ 7 Ditgsh | 2,400 2,600 1,600 1,600 dihig | 27000 3,000 1,900 1,900
wE [ gy 4 g |4BHLER Attiig; | 2,500 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 106 A~ 120X 4 500
nix 3 ®m R Bt | 2 400 2 600 1,600 1,600 b#hig | 3,000 3,400 2100 2 100 4, 250 '
100A sz [1. 2R Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800
=T [n 7 Ditgszh | 2,100 2,300 1,500 1,500 dibi | 2400/ 2,600] 1,600 1,600 121 A~ 135A
008 | g [4ESMLR Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,100 6 800] 4,200 4, 200 3,920 4500
i 3 ®m R Bt | 2 600 2 800 1,800 1,800 b#hig | 3,3000 3,700 2300 2 300 '
110N 32 |1 2BR Cthig | 2400 2 700 1,700 1,700 cihig | 29000 3,200 2000 2 000 136 A~ 150
Rl D 7 Ditgszh | 2,300 2 600 1,600 1,600 dihig | 26000 2,900] 1,800 1,800 3, 660
MA | g [4ERLR Attt | 2,500 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 4 500
i 3 ®m R Bt | 2 400 2 600 1,600 1,600 bii | 3,000] 3,400] 2 100 2 100 161 A~ 180A '
120 A ae [1. 28R Cissi | 22000 2 400 1,500 1,500 cHul | 2600 2 900| 1,800 1,800 3, 160
=T 77 [n 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 24000 2,600] 1,600 1,600
1218 | g [4EBLR Attt | 2,300] 2500 1,600 1,600 athig | 5100 5 700] 3,500 3 500 181 A~ 210A 4,500
i 3 ®m R Bt | 2,200 2 400 1,500 1,500 b#hig | 28000 3,100 1,900 1,900 2,810 '
130 am [1. 2ER Cthig | 2,000 2200 1,400 1,400 cihig | 24000 2700 1,700 1,700
=T 77 [n 7 Ditgszh | 2,000 2,200 1,400 1,400 dibi | 22000 2 400] 1,500 1,500 211 A~ 240N
181A | g [4EMLR Attt | 2, 400] 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 2,540 4500
i 3 ® R Bt | 2,300 2 600 1,600 1,600 b#hig | 3,000 3,400 2,100 2 100 '
140X 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800 241 A~ 270N
Rl D 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 2,400 2,600 1,600 1,600 2, 440
A | gg [4EUER Attt | 2,300] 2500 1,600] 1,600 athig | 5400/ 6 000 3,700 3 700 4500
ni 3 ®m R B | 2,200 2400 1,500 1,500 b | 2900 3,300] 2,000 2 000 271 A~ 300A '
150 A 3z |1, 28R Cibsi | 2,100 2,300 1,400 1,400 cHul | 2500 2 800| 1,800 1,800 2, 360
Rl D 7 Ditgssh | 2,000 2,200 1,400 1,400 dhig | 2,300 2,500 1,600 1,600
1514 | g [4EMLR Attiig | 2, 100] 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 301 A~ 4 4500
i 3 ®m R B | 2,000 2300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 2,150 '
160.A am [1. 2ER Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
=T 77 [n 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
1614 | 9o [4BMER Attt | 2,300] 2500 1,600] 1,600 atwis | 5 400] 6,000 3,700] 3,700 |%384 0B 4 500
i 3 ®m R B | 2,200 2400 1,500 1,500 b | 2900 3,300 2000 2000 |[I<ME '
170 A 3z [1. 2ER Cthig | 2,100 2,300 1,400 1,400 cihig | 25000 2800 1,800 1,800
FT %7 |a 7 Ditgszh | 1,900 2,100 1,300 1,300 dhig | 2,300 2,500 1,600 1,600
g |4BHLER Attt | 2,200 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 4 500
171A 3 ®m R B | 2,100 2,300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 '
HE 3z [1. 2@R Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
£ 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
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. 219, 760] (226, 680)| 172, 670] (179,590)| +| 21700 (2, 230)] < M@= | 1,700 (1,760)] < m&E=E |+[ (6 920)] (60 MEE)
= 226, 680| (282, 940) | 179,590 (235, 850) |+| 2,230 (2, 720)| x & | 1,760 (2, 250)| x mEE 6,920  60xmEE
[LZNE I 282,040 (352, 170)| 235,850 (305, 080) [+| 2 720 (3, 410)| x &= | 2 250 (2, 940) x mE=
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2h |28 85,600 (92, 520)| 69,900 (76, 820) |+ 830] (890)| x MEE 670]  (730)[ x ik | +[ (6,920 (60x )
NS 92,520 (148,780)| 76,820 (133, 080)|+ 890| (1,380) x mEE 730] (1, 200)| x = 6,920  60xmEE
A | 148,780 (218,010)| 133,080| (202, 310)|+| 1,380 (2, 070)| xm&s | 1,220 (1,910) xmEs=
FT | 07 218, 010 202, 310 +| 2070 xmeEx| 1,910 X EE
A |28 68,920 (/5 840)| 57,150 (64, 070)|+ 660 (720) x EE 540]  (600) x ik |+[ (6,920 (60x m)
NS 75,840| (132,100)| 64,070 (120,330)|+ 720 (1,210) x mEE 600| (1,000)] x mgm= 6,920  60xmEE
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3 ®m R Bt | 13,200| 14,500] 9,200 9, 200 b #hig | 17,400| 19, 400| 12,200 12, 200
10A 3z [1. 2ER Cthig | 12,500| 13,700 8,700 8,700 c g | 15,200| 16,900| 10,600 10, 600
FT %7 |a 7 Ditig; | 11,800) 13,000 8,200 8, 200 d#hig | 13,600/ 15,100] 9,500 9, 500
A g |[4BHLER Attt | 6,900 7,600 4, 800 4 800 athig | 15,800] 17,600 11,000] 11, 000 4,500
"> 3 ®m R B | 6,600 7,200 4,600 4, 600 b#hig | 8,700/ 9,700 6,100 6 100
208 32 |1 2ER Cibsi | 6,200 6 800 4,300 4, 300 cHbis | 7,600 8 400[ 5 300 5, 300
=T |77 [n 7 Ditgszh | 5,900 6 500 4,100 4, 100 dihig | 6,800 7,500] 4,700 4 700
21 A g |4BHLER Attiig; | 4,800 5 300 3 300] 3 300 athig | 10,900] 12,200 7,600 7,600 4,500
"> 3 ®m R Bt | 4,600 5 000 3,200 3, 200 b | 6,000 6 700 4,200 4200 |_.__ .
30N 32 |1 2ER Cibss | 4,500 4,900 3,100/ 3, 100 c bt | 5200 5 800[ 3600 3, 600 ;;;;”%éﬁ
Rl D 7 Ditrizh | 4,200 4,700 3,000 3 000 dihig | 4,7000 5,200] 3,300 3 300
31A g |[4BHLER Al | 4,200 4,600 2 900] 2 900 atwi | 9,800] 10,900[ 6,800] 6, 800 ~ 15X 4500
nix 3 ®m R Bt | 3,900 4,300 2,700 2 700 b#hig | 5,400 6,000 3,700 3 700 27, 330
40N 32 |1 2ER Cibss | 3,800 4 100 2 600 2 600 c b | 4,700| 5,200[ 3,300 3, 300
=T [n 7 Ditgszh | 3,600 4 000 2 500 2 500 diis | 4,2000 4,600] 2,900 2 900 16A~ 256A
AN g |[4BHLER Attt | 3,800 4,200 2 600] 2 600 athig | 8,800 9,800 6 100 6 100 16, 800 4 500
"> 3 ®m R Bt | 3,600 4 000 2 500 2 500 b#hig | 4,800 5,400 3,400 3,400
50 A 3z [1. 2ER Cthig | 3,400 3,800 2 400 2 400 cihig | 4,200 4,700 2,900 2 900 26A~ 35
FT %7 |a 7 Ditrszh | 3,300 3,600 2 300 2 300 dihig | 3,800 4,200] 2,600 2 600 12, 280
51 A g |4BHLER Attii; | 3,200] 3,500 2 200] 2 200 athig | 7,200 8 100] 5 100 5, 100 4,500
nix 3 ®m R Bigsh | 3,000 3 300[ 2 100/ 2 100 bii | 4,000] 4, 400] 2,800 2 800 36A~ 45A
60.A 3z [1. 2ER Cthig | 2,800/ 3,100[ 2 000 2 000 cihig | 3,500 3,800| 2 400 2 400 9,770
FT %7 |a 7 Ditgszh | 2,700 3,000 1,900 1,900 dhig | 3,100 3,400] 2,100 2 100
61 A g |[4BHLER Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,300 7,100] 4,400 4, 400 46A~ 60N 4500
nix 3 ®m R Bt | 2 600 2 800 1,800 1,800 b#hig | 3,500 3,900 2 400 2 400 7, 500
PN 32 |1 2ER Cibss | 2 400 2,700 1,700 1,700 cHbfs | 3,000 3,400[ 2100 2 100
=T 77 [n 7 Ditgszh | 2,300 2 600 1,600 1,600 dibi | 2 700) 3,000] 1,900 1,900 61 A~ T75A
A g |4BHLER Attiig; | 3,100] 3,400 2 100] 2 100 athig | 7,100 7,900] 4,900 4, 900 6, 130 4 500
nix 3 ®m R Bt | 3,000 3 300[ 2 100/ 2 100 b#hig | 3,900 4,300 2700 2 700
80N 32 |1 2ER Cibsi | 2800 3,100 1,900 1,900 cHbts | 3,400 3,800[ 2 300 2 300 76 A~ 90N
=T 7 [n 7 Ditgsh | 2,700 2,900 1,800 1,800 dhig | 3,000 3,400 2,100 2 100 5, 220
81 A g |[4BHLER Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,300 7,100] 4,400 4, 400 4,500
nix 3 ®m R Bt | 2600 2 900 1,800 1,800 b | 3,500] 3,900] 2,400 2, 400 91 A~ 1054
A 32 |1 2ER Cibssi | 2,500 2,700 1,700 1,700 cHbts | 3,000 3,400[ 2 100 2 100 4,660
3/100 FT |7 [ 7 Ditgsh | 2,400 2,600 1,600 1,600 dihig | 27000 3,000 1,900 1,900
w9y 4 g |4BHLER Attiig; | 2,500 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 106 A~ 120X 4 500
nix 3 ®m R Bt | 2 400 2 600 1,600 1,600 b#hig | 3,000 3,400 2100 2 100 4, 250 '
100A 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800
=T 77 [n 7 Ditgszh | 2,100 2,300 1,500 1,500 dibi | 2400/ 2,600] 1,600 1,600 121 A~ 135A
00A | g [4ESMLR Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,100 6 800] 4,200 4, 200 3,920 4 500
"> 3 ®m R Bt | 2 600 2 800 1,800 1,800 b#hig | 3,3000 3,700 2300 2 300
110N 3z [1. 2ER Cthig | 2400 2 700 1,700 1,700 cihig | 29000 3,200 2000 2 000 136 A~ 150
T [n 7 Ditgszh | 2,300 2 600 1,600 1,600 dihig | 26000 2,900] 1,800 1,800 3, 660
MA | 9g [4EUER Attt | 2,500 2 700 1,700 1,700 atwis | 5 500] 6 200 3,900 3 900 4 500
nix 3 ®m R Bt | 2 400 2 600 1,600 1,600 bii | 3,000] 3,400] 2 100 2 100 161 A~ 180A
120 A am [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800 3, 160
FT %7 |a 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 24000 2,600] 1,600 1,600
1218 | 9 [4EBLR Attt | 2,300] 2500 1,600 1,600 athig | 5100 5 700] 3,500 3 500 181 A~ 210A 4500
s 3 ®m R Bt | 2,200 2 400 1,500 1,500 b#hig | 28000 3,100 1,900 1,900 2,810
130 3z [1. 2ER Cthig | 2,000 2200 1,400 1,400 cihig | 24000 2700 1,700 1,700
=T 77 [n 7 Ditgszh | 2,000 2,200 1,400 1,400 dibi | 22000 2 400] 1,500 1,500 211 A~ 240N
131A | g [4EMLR Attt | 2, 400] 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 2,540 4 500
s 3 ® R Bt | 2,300 2 600 1,600 1,600 b#hig | 3,000 3,400 2,100 2 100
140N 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800 241 A~ 270N
Rl D 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 2,400 2,600 1,600 1,600 2, 440
A | gg [4EMER Attt | 2,300] 2500 1,600] 1,600 atwis | 5 400] 6 000] 3 700 3 700 4 500
i 3 ®m R B | 2,200 2400 1,500 1,500 b | 2900 3,300] 2,000 2 000 271 A~ 300A
150 A 3z [1. 2ER Cthig | 2,100 2300 1,400 1,400 cihig | 25000 2800 1,800 1,800 2, 360
FT %7 |a 7 Ditgssh | 2,000 2,200 1,400 1,400 dhig | 2,300 2,500 1,600 1,600
151A | g [4EMLR Attiig | 2, 100] 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 301 A~ + 4 500
nix 3 ®m R B | 2,000 2300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 2,150
160 A 3z [1. 2ER Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
FT %7 |a 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
1614 | pg [4FMER Attt | 2,300] 2500 1,600] 1,600 atwis | 5 400] 6,000 3,700] 3,700 |«384 0 4 500
nix 3 ®m R B | 2,200 2400 1,500 1,500 b | 2900 3,300 2000 2000 |[I<ME '
170X 3z [1. 2ER Cthig | 2,100 2,300 1,400 1,400 cihig | 25000 2800 1,800 1,800
R D 7 Ditgszh | 1,900 2,100 1,300 1,300 dhig | 2,300 2,500 1,600 1,600
g |4BHLER Attt | 2,200 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 4,500
171A 3 ®m R B | 2,100 2,300 1,400 1,400 b#hig | 26000 2900 1,800 1,800
HE 32 [1. 2@R Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
£ 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
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M | g | BE RERERNRE | RBABNRE REREEERE RERBERE
= = ERSEM ERHEM ndEE
[ 6x1) [ ox1) GE1) GET) 1
@ @ © ® ® @ @
s 210, 660] (217, 230)| 165, 660] (172, 230)| +| 2,080 (2, 140)] < Mm&= | 1,630 (1,690)] xm&E=E |+[ (6,570)] (60 MEE)
217,230 (271,060)| 172,230 (226,060)|+| 2 140 (2, 600) xfn&s | 1,690 (2, 150)| x mE® 6,570  60xmE®
[LZNE I 271,060 (336, 810)| 226,060 (291,810)[+| 2 600 (3 260)| xm&E= | 2 150 (2,810) xmE=
FT | 07 336, 810 291, 810 +| 3,260 xmeEx| 2810 X EE
N 114, 250] (120, 820)| 91,750] (98, 320) | +[ 1,110] (1, 170)] = m#= 890]  (950)[ x ik | +[ (6.570)[ (60x M=)
NS 120,820 (174,650)| 98,320 (162, 150)|+| 1,170| (1,630) xmz= 950| (1,410)] x = 6,570  60xmE®
S . 174,650| (240, 400)| 152,150| (217, 900)|+| 1,630 (2, 200)| xm&s | 1,410/ (2,070) xmE®=
T | 07 240, 400 217, 900 +| 2290 xmeEx| 2070 X EE
2h |28 82,020] (88.590)| 67,020 (73,500)|+ 790]  (850)| x MEE 640]  (700)[ x ik | +[ (6.570)[ (60x mE)
NS 88,500 (142,420)| 73,590 (127, 420)|+ 850| (1,310) xmmEE 700] (1,160)| x mgE= 6,570  60xmEE
A | 142,420 (208, 170)| 127,420 (193,170)|+| 1,810 (1,970)| xm&s= | 1,160 (1,820) xmEs=
T | 07 208, 170 193,170 +| 1,970 xmeE®| 1,820 X EE
A |28 65,980 (72, 550)| 54 730] (61, 300)|+ 630] (690) x MEE 520]  (580)| x ik | +[ (6.6570)] (60x M=)
NS 72,550| (126,380)| 61,300 (115, 130)|+ 690| (1,150) x mEE 580| (1,040)| x mgm= 6,570]  60xmEE
i 126,380 (192, 130)| 115,130] (180,880)|+| 1,150 (1,810)| xm&s | 1,040 (1,700) xmEs
T | 07 192,130 180, 880 +| 1,810 xmeEx | 1,700 X MEE
ax | 2s 61,220 (67,790)| 52,220] (58, 790) | + 580]  (640)| x MEE 490]  (550)[ x ik | +[ (6.570)[ (60x M=)
NS 67,790 (121,620)| 58,790 (112, 620)|+ 640| (1,100) x mEE 550| (1,010)] x M= 6,570  60xmEE
oA | oo 121,620 (187,370)| 112,620 (178,370)|+| 1,100 (1,760)| xm&s | 1,010/ (1,670) xm&Es=
T | 07 187, 370 178, 370 +| 1,760 xmEx| 1,670 X MEE
5. | 2m 53,530 (60, 100)| 46,030 (52, 600) |+ 510]  (570)| x MEE 430]  (490)[ x ik | +[ (6,670 (60x M)
NS 60,100] (113,930)| 52 600 (106, 430)|+ 570| (1,080) x mEE 490 (950)| x = 6,570  60xmEE
oA | 113,930 (179,680)| 106,430 (172, 180)|+| 1,030 (1,600) xmE= 950| (1,610)| x mE®
FT | 07 179, 680 172,180 +| 1,690 xmeEx| 1,610 X EE
6h |28 48,120 (54,600)| 41,690] (48, 260)|+|  450] (510)] =xm#= 390]  (450)[ x gk | +[ (6.6570)[ (60x M)
NS 54,690 (108,520)| 48, 260 (102, 090)|+ 510|  (970) x mEE 450 (910)] x = 6,570  60xmE®
S 108,520 (174, 270)| 102,090 (167, 840) | + 970| (1,630) x mEE 910| (1,670)| x mE®E
T | 07 174, 270 167, 840 +| 1,630 xmeEx| 1,570 X MEE
A |2m 44,110] (50, 680)| 38, 480] (45, 060)|+|  410] (470)] =xm#= 360]  (420)[ x gk | +[ (6,670 (60x )
NS 50,680  (104,510)| 45050 (98,880)|+| 470 (930) xmE 420 (880)| x = 6,570  60xmE®
B0A_ | 104,510 (170,260)| 98,880 (164, 630) |+ 930| (1,590) x mEE 880/ (1,540)| x mE %
T | 07 170, 260 164, 630 +| 1,590 xmeE® | 1,540 X EE
BA | om 40,940] (47,510)| 35 940 (42,510)|+ 380]  (440)| x MEE 330]  (300)[ x gk | +[ (6,570 (60x M)
NS 47,5100 (101,340)| 42,510 (96, 340)|+|  440] (900) xmEz 300 (850)| x = 6,570  60xmE®
S 101,340 (167,000)| 96,340 (162, 090) |+ 900| (1,560) x mEE 850/ (1,510)| x mE®E
zom| FC|°7 167, 090 162, 090 +| 1,560 xmeEx| 1,510 X EE
w5 o1 | pm 35,650] (42, 220)| 31,150 (37, 720)|+ 330]  (390)| X MEE 280]  (340)[ x ik | +[ (6.670)[ (60x mE)
N 42,220 (96,050)| 37,720 (91, 550) | + 390 (850) xmEE 340 (800)| x = 6,570  60xmE®
100N | 96,050 (161,800)| 91,550 (157,300)|+| 850 (1,510) xmz= 800| (1,460)| x m#=x
T | 07 161, 800 157, 300 +| 1,510 xmE® | 1,460 X EE
A | 28 33,860] (40, 430)| 29,770] (36, 340)|+ 310]  (370)] xMEE 270]  (330)[ xmEE |+[ (6,570)] (60 x mEE)
s 40,430 (94, 260)| 36,340 (90, 170) | + 370]  (830) xmEE 330 (790)| x = 6,570  60xmE®
oA 94,260 (160,010)| 90,170 (155, 920)|+|  830] (1,490) xmE® 790| (1, 450)| x mE®
T | 07 160, 010 155, 920 +| 1,490 xmeE® | 1,450 X IEE
A | om 32,340] (38, 910)| 28,590 (35 160)|+ 290]  (350)| X INEE 260]  (320)] xmEE |+[ (6,570)] (60 x mEE)
oS 38,910 (92,740)| 35,160 (88, 990)|+ 350 (810) xmEE 320 (780)| x mEm= 6,570  60xmE®
120A | 92,740 (158,490)| 88,990 (154, 740) | + 810] (1,470)| xmE* 780] (1, 440)| x m#=®
T | 07 158, 490 154, 740 +| 1,470 xmE® | 1,440 X MEE
2A | o8 31,060] (37,630)| 27,600 (34 170)|+ 280 (340)| x NEE 250]  (310)[ xm&E |+[ (6,570)] (60 x mEx)
s 37,630 (91,460)| 34,170, (88, 000)|+ 340 (800) xmmEE 30| (770)] x = 6,570  60xmE®
1304 | 91,460 (157,210)| 88,000 (153, 750) |+ 800| (1,460)| x mME* 770| (1, 430)| x E®
T | 07 157, 210 153, 750 +| 1,460 xmE® | 1,430 X EE
BA | om 29,990] (36,560)| 26, 770] (33, 340)|+ 270]  (330)| X MEE 240]  (300)[ xmEE |+[ (6,570)] (60 x mEE)
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i 3 ®m R B | 6,600 7,200 4,600 4, 600 b#hig | 8,700/ 9,700 6,100 6 100 '
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=T 77 [n 7 Ditgszh | 3,600 4 000 2 500 2 500 diis | 4,2000 4,600] 2,900 2 900 16A~ 256A
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nix 3 ®m R Bt | 3,000 3 300[ 2 100/ 2 100 b#hig | 3,900 4,300 2700 2 700 '
80N 3m |1 2ER Cibsi | 2800 3,100 1,900 1,900 cHbts | 3,400 3,800[ 2 300 2 300 76 A~ 90N
=T 77 [n 7 Ditgsh | 2,700 2,900 1,800 1,800 dhig | 3,000 3,400 2,100 2 100 5, 220
81 A g |4BHLER Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,300 7,100] 4,400 4, 400 4 500
ni 3 ®m R Bt | 2600 2 900 1,800 1,800 b | 3,500] 3,900] 2,400 2, 400 91 A~ 1054 '
A 32 |1 2ER Cibssi | 2,500 2,700 1,700 1,700 cHbts | 3,000 3,400[ 2 100 2 100 4,660
Z0H FT %7 |a 7 Ditgsh | 2,400 2,600 1,600 1,600 dihig | 27000 3,000 1,900 1,900
W | g 4 g |4BHLER Attiig; | 2,500 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 106 A~ 120X 4,500
nix 3 ®m R Bt | 2 400 2 600 1,600 1,600 b#hig | 3,000 3,400 2100 2 100 4, 250 '
100A 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800
FT %7 |a 7 Ditgszh | 2,100 2,300 1,500 1,500 dibi | 2400/ 2,600] 1,600 1,600 121 A~ 135A
100A | g [4ESLR Attiig; | 2,700] 3,000 1,900 1,900 athig | 6,100 6 800] 4,200 4, 200 3,920 4500
nix 3 ®m R Bt | 2 600 2 800 1,800 1,800 b#hig | 3,3000 3,700 2300 2 300 '
110A 3z [1. 2ER Cthig | 2400 2 700 1,700 1,700 cihig | 29000 3,200 2000 2 000 136 A~ 150
FT %7 |a 7 Ditgszh | 2,300 2 600 1,600 1,600 dihig | 26000 2,900] 1,800 1,800 3, 660
MA | 9g [4EUER Al | 2,500] 2 700 1,700 1,700 atwis | 5 500] 6 200 3,900 3 900 4500
nix 3 ®m R Bt | 2 400 2 600 1,600 1,600 bii | 3,000] 3,400] 2 100 2 100 161 A~ 180A '
120 A 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800 3, 160
FT %7 |a 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 24000 2,600] 1,600 1,600
1218 | g [4EBLR Attt | 2,300] 2500 1,600 1,600 athig | 5100 5 700] 3,500 3 500 181 A~ 210A 4 500
nix 3 ®m R Bt | 2,200 2 400 1,500 1,500 b#hig | 28000 3,100 1,900 1,900 2,810 '
130A 3z [1. 2ER Cthig | 2,000 2200 1,400 1,400 cihig | 24000 2700 1,700 1,700
FT %7 |a 7 Ditgszh | 2,000 2,200 1,400 1,400 dibi | 22000 2 400] 1,500 1,500 211 A~ 240N
181A | g [4EMLR Attt | 2, 400] 2 700 1,700 1,700 athig | 55000 6 200 3,900 3 900 2,540 4500
nix 3 ® R Bt | 2,300 2 600 1,600 1,600 b#hig | 3,000 3,400 2,100 2 100 '
140 A 3z [1. 2ER Cthig | 2,200 2 400 1,500 1,500 cihig | 26000 2900 1,800 1,800 241 A~ 270N
FT %7 |a 7 Ditgsh | 2,100 2,300 1,500 1,500 dihig | 2,400 2,600 1,600 1,600 2, 440
A | gg [4EUER Attis | 2,300] 2500] 1,600 1,600 atwis | 5 400] 6 000] 3 700 3 700 4 500
i 3 ®m R B | 2,200 2400 1,500 1,500 b | 2900 3,300] 2,000 2 000 271 A~ 300A '
150 A 3z [1. 2ER Cthig | 2,100 2300 1,400 1,400 cihig | 25000 2800 1,800 1,800 2, 360
FT %7 |a 7 Ditgssh | 2,000 2,200 1,400 1,400 dhig | 2,300 2,500 1,600 1,600
1514 | g [4EMLR Attiig | 2, 100] 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 301 A~ 4500
" 3 ®m R B | 2,000 2300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 2,150 '
160 A 3z [1. 2ER Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
FT %7 |a 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
1614 | pg [4EMER Attt | 2,300] 2500 1,600] 1,600 atwis | 5 400] 6,000 3,700] 3,700 |«384 0B 4 500
" 3 ®m R B | 2,200 2400 1,500 1,500 b | 2900 3,300 2000 2000 |[I<mE '
170 A 3z [1. 2ER Cthig | 2,100 2,300 1,400 1,400 cihig | 25000 2800 1,800 1,800
FT %7 |a 7 Ditgszh | 1,900 2,100 1,300 1,300 dhig | 2,300 2,500 1,600 1,600
g |4BHLER Attt | 2,200 2 400 1,500 1,500 athig | 4,800 5 400] 3,400 3 400 4 500
171A 3 ®m R B | 2,100 2,300 1,400 1,400 b#hig | 26000 2900 1,800 1,800 '
HE 32 [1. 2@R Cthig | 1,900 2100 1,300 1,300 cihig | 23000 2500 1,600 1,600
£ 7 Ditgszh | 1,800 2,000 1,300 1,300 dhig | 2,000 2300 1,400 1,400
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